FLESSIoNE SEMPLICE RETTA

12/11/2013

M ‘ n COMrom\M(ﬁﬁ
al X ; Dy [ ™ uhro Juamo
’f o= E ¢
¢
-7)( m&wm!mlpﬁ
1 (__,E _/_isﬁ* A owa v’\&hg
i E= €+ X
2
X,.4 . e
' 4 2 2




N=J0~M j E(+X,2)dA <

:Egp)u 4 EX}JzAA = B¢ A
Y~ “—
A 57?-0

g:.l

" EA

{Z,,,:,,\L xhrbu N=o = 50:‘,






) &—

+
5 l"-:
it pirin
\g
s %, I H:1%
1-—

M —
ot T ]

I
r w /MoM‘
> = A v e
\ci\

M
R
20 W



ANDAEDs ol TRE 1L LinTE  ELASTICo

COMrOm‘""‘ﬁ M

n Cam p’ AaaTice

&
N2 7
O':Eé “[

m&\:‘:ﬂmbﬁ

AP own r’\ e

£ €+ Xz



rd

(!

P
(4

¢/

\‘Xll‘







(AR

A

-+







’

M) N 'Y

S

2

ST

Cowpr

XV










2,

IPE 180

LISt
W = VGl %10

3
WV( + 166.4 x'og b
-—v-%: 1433

W, e

W~ 15
W,

HER 18-

425‘.1 X b} Vb

68.“ Y'OE v\w"

11314

3



Lo

3

I- 20)(‘30}.t Mo x 119 |Zoa(30:

3

=3
3

i)
= 0.1864 xJOz |7

¢ 6
Wd i 2 ] 0.384Ex10" _0.414) xio
Cu .k 1= wie >

S, Z'O*loxg-"‘:o.’s‘T‘}x’a‘
/s ol

W\-A + 2x 0.3} y!o‘ - 0.7'4 ,,O‘M.\x



; EA
\"‘ flLcegT v
iR/




2.6 V\'[/M

t 4 L) 1

/'S A
— L——t
L‘s 6,99 w = Go:ow,..'

-
—_— . -
- S

Ellg ¢

g, *

7" = 2.5 W/.,

AA YNy

34: 4.43(1.3 3 "43 k”/u

< C. = 3.3 KN
u&zs‘x's 3 /»

518 W/,
23.31 KN,



523§

3.3 x| ‘
wﬂ Z i * 3.0 x003 \mu.l
Z?T/'.og
IPE feo W = 1239 <o wm  T=8653 o)

M’\"

Mo, Lk—.( '?F 16/ ( Yy e WE 1%0




